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QUESTION 1

The load on a Fully Automated HA/DRS cluster is critically unbalanced. What condition could cause this issue?
A. DRS is disabled on one or more virtual machines.

B. The migration threshold is set to Moderate.

C. Storage vMotion is not enabled on the cluster.

D. Storage DRS is disabled on the datastore hosting the cluster\\'s virtual machines.

Correct Answer: A

QUESTION 2

What happens to the status of users already logged into ESXi Shell when a vSphere administrator enables lockdown
mode?

A. Users remain logged in and can run commands, except to disable lockdown mode.
B. Users remain logged in and can run commands, including disabling lockdown mode.
C. Users are immediately logged out of ESXi Shell.

D. Users are logged out after a timeout specified by the vSphere administrator.

Correct Answer: A

QUESTION 3

-- Exhibit -
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-- Exhibit -The vSphere administrator needs to remove the Production virtual machine port group from an ESXi host.
The ESXi host\\'s Networking Configuration tab is shown in the exhibit.

After disconnecting the Fileserver02 VM, what step does the administrator need to take, assuming that vSwitchl will still
be needed for further configuration?

A. Remove the Production port group by accessing the properties for the port group.
B. Remove the Production port group by accessing the properties for vSwitchl.

C. Remove the Production port group by accessing the properties for the Network.
D. Remove the Production port group by removing vSwitch1.

Correct Answer: B

QUESTION 4

The load is high on a HA/DRS cluster. DPM is enabled. A vSphere administrator determines that hosts are NOT
powering on automatically to support the load. Which configuration would result in this condition?

A. VM-to-VM or VM-to-Host DRS rules have been configured that restrict where some VMs can be moved.
B. DPM has been set to the most Conservative threshold.

C. Some of the virtual machines have been removed from HA consideration by the vSphere administrator.
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D. DRS is set to Manual Automation.

Correct Answer: D

QUESTION 5

A virtual machine is unable to communicate with another virtual machine. Both virtual machines are connected to the
Production port group on the same virtual switch and are running on the same host.

Which configuration is causing the inability of the virtual machines to communicate?
A. LLDP was enabled instead of CDP for the vSphere Distributed Switch.

B. Promiscuous Mode has been set to Allow on the Production port group.

C. The Production port group is configured to use a secondary PVLAN.

D. The speed and duplex settings for the virtual machine vmnics do not match.

Correct Answer: C
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